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	ANSWERS TO CHAPTER CHECKPOINTS



Study Plan Problems and Applications
1.
Provide three examples of scarcity that illustrate why even the 691 billionaires in the world face scarcity.

The 691 billionaires might want to be able to eat unlimited meals without gaining weight; live to be at least 140 years old and enjoy perfect health everyday; be able to wake up in San Francisco and go to sleep in Paris after spending no more than 3 hours on a plane. None of these wants can be fulfilled given the present state of technology and resources available.
Use the following information to work Problems 2 to 5.
Spider-Man 3 was the most successful movie of 2007, with worldwide box office receipts of $891 million. Creating a successful movie brings pleasure to millions, generates work for thousands, and makes a few rich.
2.
What contribution does a movie like Spider-Man 3 make to coping with scarcity? When you buy a ticket to see a movie in a theater, are you buying a good or a service?
Scarcity still exists but the amount of entertainment available in the economy increases. Buying a ticket to watch a movie is buying a service.
3.
Who decides whether a movie is going to be a blockbuster? How do you think the creation of a blockbuster movie influences what, how, and for whom goods and services are produced?
The audience decides whether a movie will be a blockbuster because the audience decides whether to attend the movie.

The “for whom” question is influenced because those people who receive the profits of a blockbuster movie have higher incomes and so more goods and services are produced for them. The “what” question is affected in two ways: First, one good or service that is produced is the blockbuster movie. Second, the people whose incomes are higher as a result of the blockbuster then buy an assortment of goods and services and so this assortment of goods and services is produced. The “how” question is affected to the extent that movies use different production methods. Some movies, for instance, have a lot of special effects while other movies have few or none. The “what” question is influenced if the movie leads to spinoff goods (such as toys) or creates a series of sequels or similar films.
4.
What are some of the marginal costs and marginal benefits that the producer of a movie faces?
Some of the marginal costs the producer faces are the cost of an actor or actresses, the costs of the crew for a day, the costs of a location, and the costs of advertising in a newspaper. The marginal benefits the producer enjoys are his or her salary and/or profit participation from the movie, royalties from the movie, the prestige resulting from a successful movie, and any awards given to the producer of the movie.

5.
Suppose that Tobey Maguire had been offered a bigger and better part in another movie and that to hire him for Spider-Man 3, the producer had to double Tobey’s pay. What incentives would have changed? How might the changed incentives have changed the choices that people made?

The higher pay would have increased Mr. Maguire‘s incentive to make Spider-Man 3 rather than the other movie and perhaps affected his choice to make Spider Man 3 rather than the other movie. The higher pay would have increased the incentive of the producer to decrease the expense of other aspects of the movie so the producer might have chosen to reduce the (expensive) special effects used in the movie.
6.
Arnold Schwartzenegger chose politics over making movies such as a sequel to Terminator 3. In making his decision to run for governor of California, did he make his choice on the margin? Was his choice rational? Did he face an opportunity cost? If so, what might have been some of the components of his opportunity cost?

Mr. Schwartzenegger almost surely made a decision at the margin when he decided to run for governor. In this case, the margin was the choice to spend his time for at least a few years involved with politics or making movies and otherwise helping his movie career. His decision was almost surely rational, if for no other reason he apparently spent a great deal of time making it. He used this time to determine the marginal costs and marginal benefits of becoming involved in politics. The decision to run for governor had significant opportunity cost. In particular his movie career was put on hold, perhaps temporarily or perhaps permanently. As a result, Mr. Schwartzenegger forgoes all the benefits of his movie career, such as the millions of dollars he would receive for starring in a movie and the admiration of his fans.

7.
Pam, Pru, and Pat are deciding how they will celebrate the New Year. Pam prefers to take a cruise, is happy to go to Hawaii, but does not want to go skiing. Pru prefers to go skiing, is happy to go to Hawaii, but does not want to take a cruise. Pat prefers to go to Hawaii or to take a cruise but does not want to go skiing. Their decision is to go to Hawaii. Is this decision rational? What is the opportunity cost of the trip to Hawaii for each of them? What is the benefit that each gets?

Pam, Pru and Pat’s decision to go to Hawaii is rational. All three of them considered the cost and benefit of various New Year’s plans. All three were at least willing to go to Hawaii while Pam and Pat were unwilling to go skiing and Pru was unwilling to go on a cruise. The opportunity cost of the trip for Pam is a cruise; for Pru, it is skiing; and for Pat, it is a cruise. The benefit each receives is the pleasure, the relaxation, excitement, and/or knowledge gained from the trip.

8.
Label each of the news items as a positive or a normative statement:

· The Poor Pay Too Much for Housing
The news item that the poor pay too much for housing is a normative statement.

· The Number of Farms Decreased over the Last 50 Years
The news item about the number of farms is a positive statement.

· Pets Killed for Food in Zimbabwe
The news item about Zimbabwe is a positive statement.

· Imports from China Swamping U.S. Department Stores
The news item about the imports is a normative statement.

· Rural population Constant over the Past Decade

The news item about the population in rural areas is a positive statement.

9.
Explain the ceteris paribus assumption and why economists use it. Given an example of when you would use the ceteris paribus assumption.
The ceteris paribus assumption is that only one factor changes and all other relevant factors remain constant. Economists use the ceteris paribus assumption to show the cause and effect relationship among various factors. By changing only one factor at a time, economists get a clearer picture of how that factor affects the issue under examination.

Ceteris paribus can be used when thinking about creating a class schedule. A student can think, ceteris paribus, adding this class will cause me to work how much harder?

Instructor Assignable Problems and Applications
1.
Suppose a person gets a loan from a bank to buy a new home.

· Are the borrower and the bank acting in self-interest, the social interest, or both?
Both. The borrower and bank are definitely acting in their self interest. The borrower will acquire a new home in which to live while the bank will acquire a revenue stream (and profit) from the mortgage. The social interest also is advanced because workers will be employed to help construct the new home.
· If the borrower can’t afford to keep up the payments and defaults, is borrower pursuing self-interest, the social interest, or both?
The action is in the borrower’s self-interest because the borrower no longer will be using his or her income to repay the loan. The default itself is not in the social interest.
· If the bank forecloses on the delinquent borrower, is the bank pursuing self-interest, the social interest, or both?
The bank’s foreclosure is certainly in the bank’s self-interest because the bank wants to find another buyer for the home who will make payments on his or her mortgage. The foreclosure is not in the social interest.
2.
On Friday May 14, 2009, the following headlines appeared in The Wall Street Journal. Classify each headline as a signal that the news article is about a microeconomic topic or a macroeconomic topic. Explain your answers.
· US Set to Rethink Fed’s Role

This news item is about a macroeconomic topic because it studies the Federal Reserve. The Federal Reserve is the agency that helps regulate the nation’s financial system and is in charge of the nation’s monetary policy, so the Fed is a key macroeconomic player.

· Wal-Mart Makes Electronics Push

This news item is about a microeconomic topic because it studies an issue that affects one business, namely Wal-Mart, and its business strategy, namely to increase its presence in the consumer electronics market.

· VW, Porsche Take Break in Talks

This news item is about a microeconomic topic because it studies the attempt by two businesses to merge.

· Economists Foresee Protracted Recovery
This news item is about a macroeconomic issue because it examines economists’ predictions about a business cycle recession, which is a key macroeconomic topic.
3.
Think about each of the following situations and explain how they affect incentives and might change the choices that people make.

· A hurricane hits Central Florida.

The hurricane affects the people in Central Florida and the consumers who purchase the products produced in Central Florida, such as oranges or vacation services. Residents’ incentives change if they suffered damage from the hurricane because they have the incentive to repair the damage. If the price of home repair rises, residents who specialize in home repair have an incentive to work longer hours to earn the higher price. If the hurricane raises the price of the goods and services produced in Central Florida, consumers have the incentive to buy less of these particular goods and services because they are more expensive.

· The World Series begins tonight but a thunderstorm warning is in effect for the area in which the stadium is located.

The thunderstorm decreases fans’ incentive to attend the game. Some fans decide to stay at home and watch the game on television.

· The price of a personal computer falls to $50.

The fall in the price of a computer increases consumers’ incentive to buy a computer. More consumers decide to buy a computer. The fall in the price of a computer decreases producers’ incentives to produce computers. Fewer producers decide to produce computers.

· Political instability in the Middle East sends the price of gas to $5 a gallon.

The rise in the price of gasoline affects drivers’ incentives to buy gasoline and large gas-guzzling cars. Drivers decide to buy less gasoline and fewer large gas-guzzling cars. They also might decide to ride public transportation more often.

4.
Think about the following news items and label each as involving a what, how, or for whom question:

· Today, most stores use computers to keep their inventory records, whereas 20 years ago most stores used paper records
Stores using computers for inventory records today versus paper 20 years ago answers the how question.

· Health-care professionals and drug companies recommend that Medicaid drug rebates be made available to everyone in need
Deciding whether to offer lower Medicaid drug rebates, which would lower the prices for drugs, is a for whom question.

· A doubling of the gas tax might lead to a better public transit system

Deciding whether a better public transit system gets built answers a what question. Because not everyone will use the public transportation equally nor will everyone pay the same amount of taxes, there also is a for whom aspect of the headline.

5.
Your school decides to increase the intake of new students next year. To make its decision, what economic concepts would it have considered? Would the school have used the “economic way of thinking” in reaching its decision? Would the school make its decision on the margin?

The school would consider the extra revenue that each additional student would bring and compare that to the extra cost of providing each student with instruction and service. By comparing the extra revenue and the extra cost, the school is making its decision on the margin and is using the economic way of thinking. If the school compares the additional revenue to the additional cost, it makes its decision on the margin. 

6.
Provide two examples of monetary and two examples of non-monetary incentives, a carrot and a stick of each, that government policies use to influence behavior.

A monetary carrot that the students might answer because it is close to their lives is student aid, such as Pell grants. A monetary stick might be taxes on liquor. A non-monetary carrot is government support for the arts, such as symphonies and a non-monetary stick is jail terms for illegal drug or alcohol use.

7.
Does the decision to make a blockbuster movie mean that some other more desirable activities get fewer resources than they deserve? Is your answer a positive or a normative? Explain your answer.
Whether “more desirable” activities get fewer resources than they “deserve” is a normative answer for two reasons. First the question of whether an activity is more desirable or less desirable depends on the person’s judgment and values. Second the determination of whether an activity gets fewer resources than it deserves also involves the normative decision about the quantity of resources an activity deserves. So the answer to the question of whether making a blockbuster movie means that other more desirable activities get fewer resources than they deserve is a normative answer that depends on the student’s values.
8.
Provide two examples of economics being used as a tool by each of a student, a business, and a government. Classify your examples as dealing with microeconomic topics and macroeconomic topics.
Students might answer that they use economics as a tool when they budget their student aid and when they decided which college to attend based on the costs of their options. Both instances deal with microeconomics. A business uses economics as a tool when it decides the price it charges for its product and the salaries it pays its managers. Both instances are microeconomic examples. The government use economics as a tool when it decides whether to increase taxes on cigarettes or lower the interest rate. The first example is microeconomic in nature and the second involves macroeconomics.

9.
Find in the media one example of economics being used as a tool by each of a person, a business, and a government to make a decision.
Examples of possible answers include decisions made by people or governments about what to buy; decisions made by firms to raise or lower the price of the good or service they produce; decisions made by firms to hire more or fewer workers; decisions made by people about what job to take; and decisions made by the government about raising or lowering taxes.
Use the following information to work Problems 10 to 16.

Hundreds line up for 5 p.m. Eminem ticket giveaway

Hundreds of Eminem fans lined today for a chance to get a free ticket to the Detroit rapper’s secret concert. Despite the fact that tickets would not be released before 5 p.m., people lined up all day.
Source: Detroit Free Press, May 18, 2009
Eminem announced on MySpace that he planned to release his new album Relapse—first album in 5 years—on the same day as his free concert in Detroit.

10.
Eminem is giving away tickets to his show in a 1,500-seat theater in Detroit. What is free and what is scarce? Explain your answer.

The seats in the concert are scarce—there are only a limited number (1,500) available. Also scarce is the time the enthusiastic fans spent in line to acquire the tickets. The publicity that Eminem receives is free to him but the publicity used reporters’ scarce time to report on the lines for the tickets rather than reporting on other news worthy events.
11.
What do you think Eminem’s incentive is to give a free show?

Eminem likely wants to allow his most enthusiastic fans the opportunity to see him in concert. He also has the incentive to promote his album by the publicity he gets from having the free concert and the resulting massive demand for tickets. This publicity will lead to increased sales of his album and increased income to him.

12.
Did Eminem make his decision to give a free concert in self-interest or in the social interest? Explain.

Eminem’s decision to give a free concert had elements of both self-interest and social interest. To the extent that his decision was motivated by the free publicity and rise in album sales, the decision was motivated by self-interest. However to the extent that a desire to allow his most enthusiastic fans the chance to see him perform, the decision also had elements of social interest.
13.
Because all the tickets were free, was the marginal benefit from the concert zero? Explain your answer.

The marginal benefit from the concert was not zero. Regardless of the price paid for the concert, Eminem’s fans enjoyed the concert and therefore enjoyed a marginal benefit from it.
14.
For the people who scored tickets, is the concert really free? If not, explain why not?

The people who stood in line and acquired tickets incurred the opportunity cost of their time. In addition, if they attended the concert rather than sell their “free” tickets, they incurred the opportunity cost of the foregone ticket price. So the concert was far from “free” for the concert-goers.
15.
Did the people who lined up but missed out on getting tickets incur any costs? What sort of a cost? Explain.

The people who stood in line but were ultimately turned away without tickets incurred a cost. They incurred an opportunity cost because of the time they spent in line. Rather than standing in line, whatever else they otherwise would have done is the opportunity cost of their attempt to acquire the tickets. 

16.
Was Eminem’s decision to give a free concert a rational choice?

The decision almost surely was a rational decision. Eminem compared the marginal cost of the free concert, which is the lost revenue from sale of 1,500 tickets, to the marginal benefit of the free concert, which is the massive publicity for his album and the resulting increase in sales of his album. The revenue gain from the increase in album sales almost certainly dwarfs the opportunity cost of the lost revenue from the free concert.

Use the following information to work Problems 17 to 21.

Report: Obama will drive up miles-per-gallon requirements

The Obama administration will announce a sweeping revision of auto-emission and fuel-economy standards in the same package, which will require automakers to boost overall fuel economy to 35.5 miles per gallon by 2016, notching up 5% each year from 2012, to limit the amount of carbon-dioxide cars can emit.
Source: USA Today, May 18, 2009
17.
What are two benefits of the new miles-to-gallon requirements?

Consumers benefit from the new mileage standards because their expenditure on gasoline will decrease. Drilling for petroleum to produce gasoline can lead to environmental degradation. By decreasing the amount of gasoline required to run cars, the new mileage requirements can help protect the environment.
18.
What are two benefits of the new auto-emission standards?

The auto-emission standards mean that less carbon dioxide will be emitted, therefore decreasing the extent of global warming. The standards also require higher fuel economy, so the benefits in the preceding answer also result from the new auto-emission standards.
19.
Are the benefits you listed in Problems 17 and 18 benefits in someone’s self-interest or in the social interest?

The first benefit, the lowered expenditure on gasoline, is in the consumers’ self-interest. The second benefit, decreased environmental harm, is in the social interest. The third benefit, reduced emission of carbon dioxide, is in the social interest.

20.
What costs associated with the new miles-to-gallon requirements arise from decisions made in self-interest and in the social interest?

The requirement to boost gasoline mileage will increase the cost of producing automobiles and thereby increase the price consumers pay. 

21.
What costs associated with the new auto-emission standards arise from decisions made in self-interest and in the social interest?
The new auto-emission standards will increase the cost of producing automobiles and thereby increase the price consumers pay. This cost arises from the decision to impose the new auto-emission standards, a decision made in the social interest.
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